> p1:=—3*x+7*xA2—3*xA3+7*xA4;p2;=5*x§5+3*x“3+x“2—2*x+1;
pl:=-3x+7X—-3xX+7x"

p2i=5xX +3x+xX¥-2x+1

[ > sort(expand(p1*p2)).; ' '

35X 158 +56 X —17X¥+4xX +11 8 -20X +13x¥ -3 x

=> quo(p2,p1.x);sort(rem(p2,p1.x));

Ex+£
7 49

223 -2y
49 49

=> factor(p1);factor(p1,I); .
x(7x=3) (14+x)

x(x=1) (x+1) (7x-3)

[> pol:=6%x*yA5+12¥yAq+14*yA3*xA3_15%xA2*yA3+9¥xAT*YAD 35k xAL*
Y+21¥xA5; . . .
pol:=6x)y°+ 12+ 14V X - 15Xy +9x )y =35 y+21 %
B sort(pol, [x,yl. plex);r ) o o
21X —35Xy+ 14Xy +9x )y — 15Xy +6x)y° + 12 )"
B collect(pol, x); ( - o
21X 35Xy + (924 14y°) ¥ — 15y +6xy° + 12"

> r:=(xA2+3*x+2)/ (xA2+5*x+6); numer(r);denom(r);
::£+3x+2
X+5x+6

X+3x+2
X+5x+6

r:

B normal(r);
x+1

x+3

B convert((xA3+xA2-x+1)/(-3*x+7*x"r2-3*xA3+7*x"4), parfrac,x);
143 1 1 7x+3
_74_7
87 (7x—3) 3x 29 14+

=> Vv:=(x+1)A(-2); numer(v)/expand(denom(v));
1

(x+1)2
B S
X+2x+1
[ > (xX-1)*(x+2) /7 ((x+1)*x)+(x-1)/(1+x)A2; sort(normal(%, expanded));
(x—l)(x+2)+ x—1
(x+1)x (x+1)°
X 4+3x¢—2x=2
X 42X +x

V.=




x = polygen(QQ, 'x")
pl=-3*x+7*x"2-3*%x"3+7*x"4;p2=5*x"5+3*x"3+x"2-2%*x+1;pl;p2
7x* —3x3 + 7x? — 3x
5x% +3x3 +x2 —2x+1

pl*p2;
35x? — 15x8 4+ 56x7 — 17x5 + 4x° + 11x* — 20x3 + 13x? — 3x

(q,r) = p2.quo_rem(pl);q;r

5.,
Ty 49 53
3 2
-2 2
10° T T T

factor (pl);maxima. gfactor (pl)

(1) (= 2) x4 1)
X (x—=1i) (x+1i) (7Tx—=3)

var('y'); x,y=polygens(QQ, 'x,y')
y

pol=6*x*y 54+12*y 4+14%y " 3*x"3-15%x 2%y " 34+9*x"3*y"2-35%x"4*y+21*x"5; pol
14x3y3 4 6xy° + 21x° — 35x%y + 9x3y? — 15x2y® + 12y%

Ryxlex.<x,y> = PolynomialRing (QQ, 2, order='invlex');Ryxlex(pol)
6xy° + 12y* + 14x3y3 — 15x%y3 4+ 9x3y? — 35x1y + 21x°

Rlex.<x,y> = PolynomialRing (QQ, 2, order='lex');Rlex(pol)
21x5 — 35xty 4+ 14x3y> + 9x3y? — 15x2y3 + 6xy° + 12)*

pol.polynomial (pol.variables () [0])
21x° — 35yxt + (14y3 + 9y2) x3 —15y3x% 4+ 6y°x 4+ 12y*

reset () ;r=(x"2+3*x+2)/ (x"245*x+6);r;r.numerator (normalize=False);r.\
denominator (normalize=False) ;

x24+3x+2

x2+5x+6
<x2+3x+2)
x24+5x+6

x=polygen (QQ, 'x");r=(x"2+3*x+2)/ (x"2+5*x+6);r
x+1
X+3

reset () ;((x73+x72-x+1)/(-3*x+7*x"2-3*x"3+7*x"4)) . partial_fraction ()
Tx+3 + 143 b
29(x2+1) 87(7x—3) 3x

v=(x+1)"(-2) ;expand(v)
1
x24+2x+1

(x-1) *(x+2) / ((x+1)*x) +(x-1) /(1+x) "2
(x+2)(x—1) x—1
(x +1)x (x +1)?

x=polygen (QQ, 'x"') ;(x-1)*(x+2) /((x+1)*x)+(x-1) /(1+x) "2
x34+3x2—2x—2
x3 4 2x2 + x
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